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Guess Paper – 2009

Class – XII

Subject – Physics
(Current Electricity)
Time:1:30 hr

Q 1 When maximum current is provided by battery? 

Mark (1) 

Q 2 For a given carbon resistor, the first strip is Blue, second strip is orange third and fourth strips are green and gold respectively. What is its resistance? 

Mark (1) 

Q 3 What is the effect on drift velocity of electrons if temperature is increased? 

Mark (1) 

Q 4 What is the working principle of a potentiometer? 

Mark (1) 

Q 5 What is the value of temperature coefficient of resistance of insulators and semi conductors? 

Mark (1) 

Q 6 Two bulbs A and B are marked 220v, 40w and 220v, 60w respectively. Which one of the two has greater resistance. 

Mark (1) 

Q 7 If the radius of a copper wire is doubled, what will happen to its specific resistance? 

Mark (1) 

Q 8 State two uses of potentiometer. 

Mark (1) 

Q 9 If a copper wire is stretched to make it 0.1% longer. What is the percentage change in resistance? 
Marks (2) 

Q 10 What is the effective resistance of the following network 

Marks (2) 

Q 11 Define electromotive force. 

Marks (2) 

Q 12 Define one ohm? 

Marks (2) 

Q 13 What is conductivity? 
Marks (2) 

Q 14  Find the value of current in following network?
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Marks (2) 

Q 15 What are the charge carriers in ionic crystals and electrolytic liquids? 

Marks (2) 

Q 16 Define electric current? 
Marks (2) 

Q 17 What is specific resistance of a conductor?  
Marks (2) 

Q 18 What is temperature coefficient of resistivity? 

Marks (3) 

Q 19 What is internal resistance of a cell, how is it related to current drawn from a cell? 
Marks (3) 

Q 20 State Kirchhoff’s laws of electricity? 

Marks (3) 

Q 21 A battery of emf 6 v and internal resistance1 ohm is connected to a resistor.if the current in the resistor is 0.5A find the resistance of the resistor? What is the terminal voltage of the battery when the circuit is closed? 

Marks (3) 

Q 22 Ohm’s law is not a fundamental law of nature. Justify the statement? 

Marks (3) 

Q 23 An electric cable of copper has just one wire of radius 9mm. Its resistance is 5 ohm . 6 different well-insulated copper wires of radius 3mm each replace this single wire of cable.  What will be the total resistance of cable? 

Marks (3) 

Q 24 A conductor of resistance 10ohm is bent in the form of a circle.What is the resistance between the points on any diameter of the circle. 
Marks (3) 

Q 25 Resistance between the points A and B is given in the following figure, reduce the following network to get the equivalent resistance.                                                                                                            
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Marks (5) 

Q 26 A circuit shown in the fig. has potential 6v, 3v, and 2v at points A,B and C respectively. Find the potential at point O             
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Marks (5) 

Q 27 The length of a given cylindrical wire is increased by 100%. Due to the consequent decrease in diameter; find the change in the resistance of the wire. 

Marks (5) 

Q 28 What is a wheat stone bridge. Also explain its working? 

Marks (5) 
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